GSE PreCalculus Name IK_U)\' Pal
Review for the Quiz Date

Directions:
I. Ideniify the type
Il. Graph each conic
lll. List critical parts:
For Circles: {a) center, (b) radius
For Parabolas: (a) vertex, (b) focus, (¢} directrix
For Ellipses: (a) center, (b) vertices, (c) foci
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Use the information provided to write the standard form equation of each circle. (-2 3) (’Z*ﬂ)
' (0,0
5. Ends of a diameter: (-2,-9} and (-1, -1} 6. Cir; :(a@fﬁ)sj Pt on a circle: (15, -13)
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Use the informatfion provided to write the transformaﬁonc:l form equation of each parabola.

7. Vertex: (-4, -1), Focus: (-4, -6} \ 8. Vertex: (-9, 4}, Directrix/:ﬁx= -12 ﬁ‘é ht
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Use the information provided to write the s'z:-lice"d form equation of each ellipse. i H\J vimont “‘(ﬂ
10. vertices (4,3}, (4.-9) 4 =l Ve 11. Major axis (-13, 2) to {1, 2)Q=q‘c+, (_(‘,) 2)

Length of minor axisis 8 b= 4 inor axis (-6,4) to (-6,0)
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Write each equation in standard form. Identify the related conic. a z
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